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A= o ey | B2 =z
R of & o
A 50,053,086| 65,398,398 A15,345,312
600 At 32,037,447 37,653,279| 425,615,832
610 Y=+ 28,004,446 27,792,533 211,913
611 AtE=EY 27,919,997 27,708,187 211,810
01 7THEBHTEAER 12,351,081 13,041,524 2690,443
O 7Hdg 7009 x 17,644,402€ = 12,351,081
03 JSEHUTZAER 3,624,174 3,571,414 52,760
O 3&5YgRe 1,400 x 2,588,696= = 3,624,174
05 UHBHSEAER 11,002,475 10,153,636 848,839
O Yg-geg 1,970¥ x 5,585,013 = 11,002,475
07 USEEYTAIER 423,335 390,018 33,317
O Uises 1,290%! x 328,167€ = 423,335
09 ARILSUBLTEAER 518,932 551,595 232,663
O MELUIHE 620% x 836,988E = 518,932
661 7[EIIYT 84,449 84,346 103
09 7|EfgesY 84,449 84,346 103
O 20|12REHa s o2 £U(SERARET)
1709 x 27,597,857& x 1.8% = 84,449
670 I+ 4,033,001 9,860,746 ~5,827,745
671 O 912,000 420,000 492,000
01 OZ0IR}Y 912,000 420,000 492,000
O d7|dlg oAy 32,000,000,0008 x 2.85% = 912,000
672 EfR|AHU=s+Y 3,070,101 9,354,746 ~6,284,645
01 YUBAHLZ 2,700,000 9,000,000 »6,300,000
O UBSA HU= 2,700,000,000 x 14l = 2,700,000
02 EEgHIARYU= 370,101 354,746 15,355
O slrA8z £ERe a2 £YUGHKEEERA)
370,101,000¢ x 14| = 370,101
679 7[EIZYs+A 50,900 86,000 235,100
01  7IEUcH+ 6,900 6,000 900
O EX| & 3:AL At 300,000¥ x 23 = 6,900
03 =EZ0jzY 20,000 20,000 0
O Ik AV s 285 o2+ 10,000,000& x 23| = 20,000
09 7EIZYl-Y 24,000 60,000 236,000
O #+EAMER A 7Htg Y 600,000,000 x 3% = 18,000
O £Eegm 1AM HH 10 ¢ 500,000¢! x 12& = 6,000
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100 AR2A4~Y 3,600,000 1,330,000 2,270,000
180 FEAZ 3,600,000 1,330,000 2,270,000
181 =MAYOIZ 3,000,000 930,000 2,070,000
01 AMAKYNZ 3,000,000 930,000 2,070,000

O &MAYo=z = 3,000,000,000& x 14l = 3,000,000
182 0|3 600,000 400,000 200,000
01 <oz 600,000 400,000 200,000

O HEe Oz 600,000,000¢ x 14| = 600,000
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600 At 3,130,840 3,130,840 0
610 FYrA 3,130,840 3,130,840 0
612 o-HiE3Ae 3,060,000 3,060,000 0
01 AEAE3AY 3,000,000 3,000,000 0
OHItE 100,000,000% x 5% = 500,000
ZHRI7 1,000,0008 x 2,500 = 2,500,000
R SAY 60,000
W17 600,000 x 100 = 60,000
7Bt 70,840
03 7ERreRsY 70,840 70,840
O 44 LIz gAld A 252201071
11,0009 x 2,600 = 28,600
O dg 2 iz g5AE EA 2= (0IE) 100,000% x 52 = 500
O A4 LIz gAld E258A 2017
8,0008 x 2,600 = 20,800
O 4g 2 Iz 85418 ESEA 22 (0IUE)
16,0008 x 5% = 80
O A4 Y IH2 goAld ZREAL 20117 Y
8,000¥ x 2,600 = 20,800
O 44 LIz g5Ald ZRdAL = (0HILE)
12,0008 x 5% = 60
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100 224 11,284,799 23,284,279 £11,999,480
170 A2Ada+Y 11,284,799 23,284,279 11,999,480
171 AdRYEsY 1,808,799| 1,408,799 400,000
01 AdREz+Y 1,808,799| 1,408,799 400,000
O Ald S53AL |RRESFYUOHR) 250,0008 x 2,500 = 625,000
O Ad S5SA AR ES+YOME)
381,000% x 2,000MICH x2.62! x 0.383 = 758,799
O Ald S5SA HARIRARESTYONLAI)
400,000,0009! x 1744 = 400,000
O M2 S53At ARSI 250,000¢ x 100 = 25,000
173 ERAHEEZRZSY 9,476,000| 21,875,480 ~12,399,480
01 INERFHY 7,567,000 0| 7,567,000
O Al dtisiA (=T o2td HHIAIR)
7,567,000,0009 x 14l = 7,567,000
02 ERAHLEZZSY 0| 3,927,000 23,927,000
03 Al=HEZE4Y 1,909,000 17,948,480 £16,039,480
O SAR|Q GL0FAT] CHRHAI (MSHALRY) 1,909,000,000&x14l = 1,909,000






